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c) Write an equation that does not
contain y and solve it for x

Ix+1S = 2%

[ ()

dy Use the x-value you found to find the
corresponding y- value
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a x== ?,.2_4(“' N 1. Law of Cosines

b. sind_snB & \ — 2. Law of Sines

a
. R2=a+b2 & \\‘ 3. Pythagorean Theorem
d 2=a2+ b2 - 2abcosC 4. Quadratic Formula
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a) decide as a group if it is linear ;‘ry :0
. . . (o] Qo
b) If linear, find the equation. I
%((h?h.‘v\\j

With each situation:

@ -- start by writing down the given information (or briefly
abbreviating the info if in paragraph form).

-- Discuss how you decided if it was linear
or not.

@-- If linear, write the linear equation. If not,
move to the next question.
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the order.

Killer Fried Chickens
charges $7.00 for a basic
bucket of chicken and
$0.50 for each additional
piece. The input is the
number of extra pieces of
chicken ordered, and the
output is the total cost of
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James planted a bush in
his yard. The year he
planted it, the bush
produced 17 flowers.
Each year, the branches
of the bush split, so the
number of flowers
doubles. The input is the
year after planting, and

the output is the number , X
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Decide if the relationship is linear.

Assighment
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